


Autumn Leaf Shawl  

FINISHED MEASUREMENTS: 25” X 25”  

MATERIALS 

Two 3.5oz/100g skeins (each approx 160m) Autumn  

One Size 8 (5mm) circular needle, 36” long OR SIZE TO OBTAIN GAUGE  

2 size 8 (5mm) double-pointed needle 

Stitch markers 

GAUGE 

19 sts and 38 rows to 4”/10cm over garter stitch using size 8 (5mm) needles.  

TAKE TIME TO CHECK YOUR GAUGE. 

NOTE 

Shawl is worked back and forth. Circular needle is used to accommodate large  

number of sts. Do not join. 

Pm= place marker 

Yo= yarn over 

Ssk= slip slip knit 

SHAWL 

With circular needle, cast on 66 sts. 

Set up row (R S ) Sl 1, k1, yo, [k14, yo, pm, k2, pm, yo] three times, k14, yo, k2. 

Next row (WS) Sl 1, k to k end. 

Row 1 (RS) Sl 1, k1, yo, [K to marker, yo, sl marker, k2, sl marker, yo] 3 times, k  

to last 2 sts, yo k2. 

Row 2 Sl 1, k to end. 

Rep rows 1 and 2 for 20 times more—242 sts.  

Bind off. 



EDGING 

Cast on 11 sts. 

Row 1 (RS) K1, yo, ssk, k3, k2tog, yo, k1, yo, k2—12 sts. 

Row 2 and all WS rows Knit. 

Row 3 K1, yo, ssk, k3, k2tog, yo, k2, yo, k2—13 sts. 

Row 5 K1, yo, ssk, k3, k2tog, yo, k3, yo, k2—14 sts. 

Row 7 K1, yo, ssk, k3, k2tog, yo, k4, yo, k2—15 sts. 

Row 9 K1, yo, ssk, k3, k2tog, yo, k5, yo, k2—16 sts. 

Row 11 K1, yo, ssk, k3, k2tog, yo, k6, yo, k2—17 sts. 

Row 13 K1, yo, ssk, k3, k2tog, yo, k5, k2tog, k2—16 sts. 

Row 15 K1, yo, ssk, k3, k2tog, yo, k4, k2tog, k2—15 sts. 

Row 17 K1, yo, ssk, k3, k2tog, yo, k3, k2tog, k2—14 sts. 

Row 19 K1, yo, ssk, k3, k2tog, yo, k2, k2tog, k2—13 sts. 

Row 21 K1, yo, ssk, k3, k2tog, yo, k1, k2tog, k2—12 sts 

Row 23 K1, yo, ssk, k3, k2tog, yo, k1, k2tog, k2—11 sts 

Row 24 Knit. 

Rep rows 1-24 twenty times, or until edging fits along bound-off edge of shawl. 

FINISHING 

Sew edging to shawl. 
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ERRATA: 
 
AUTUMN LEAF SHAWL
 
To get the shawl as it looks in the picture, on the wrong side row, between the stitch markers, purl 2x. 
Edging, on row 23, it should read: K1, yo, ssk, k3, k2tog, yo, k2tog, k2.-11 sts





